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BA2C-BC6-2719-W BA2C-BC6-2719-B BA2C-BC6-2719-S 989Im |659Im/W 19°
BA2C-BC6-2726-W BA2C-BC6-2726-B BA2C-BC6-2726-S 2700K 957 Im |63.8Im/W 26°
BA2C-BC6-2733-W BA2C-BC6-2733-B BA2C-BC6-2733-S 1115Im  |74.3 Im/ W 33°
BA2C-BC6-2739-W BA2C-BC6-2739-B BA2C-BC6-2739-S 1020 Im |68.0 Im/ W 39°
BA2C-BC6-3019-W BA2C-BC6-3019-B BA2C-BC6-3019-S 1009 Im |67.3Im/W| 19°
BA2C-BC6-3026-W BA2C-BC6-3026-B BA2C-BC6-3026-S 3000K 976Im |65.1 Im/W 26°
BA2C-BC6-3033-W BA2C-BC6-3033-B BA2C-BC6-3033-S 1137 Im  |75.8 Im/ W 33° N
BA2C-BC6-3039-W BA2C-BC6-3039-B BA2C-BC6-3039-S 1040Im |69.3 Im/ W 39°
BA2C-BC6-3519-W BA2C-BC6-3519-B BA2C-BC6-3519-S 1058Im | 70.5Im/W| 19°
BA2C-BC6-3526-W BA2C-BC6-3526-B BA2C-BC6-3526-S 1024 Im |68.3 Im/ W 26°
3500K Ra80
BA2C-BC6-3533-W BA2C-BC6-3533-B BA2C-BC6-3533-S 1193Im  |79.5 Im/W 33°
BA2C-BC6-3539-W BA2C-BC6-3539-B BA2C-BC6-3539-S 1091 Im  |72.7 Im/ W 39°
BA2C-BC6-4019-W BA2C-BC6-4019-B BA2C-BC6-4019-S 1088 Im 72.5Im/W 19°
BA2C-BC6-4026-W BA2C-BC6-4026-B BA2C-BC6-4026-S 4000K 1053Im |70.2 Im/ W 26°
BA2C-BC6-4033-W BA2C-BC6-4033-B BA2C-BC6-4033-S 1227 Im  |81.8 Im/W 33°
BA2C-BC6-4039-W BA2C-BC6-4039-B BA2C-BC6-4039-S 1122Im | 74.8 Im/ W 39°
-—J- Ll
BA2C-BC6-5019-W BA2C-BC6-5019-B BA2C-BC6-5019-S 11181Im 74.5 Im/W 19° Hy'f\ /\
BA2C-BC6-5026-W BA2C-BC6-5026-B BA2C-BC6-5026-S 5000K 1081Im |72 1m/W | 26° 29 2-4x6 3 1
BA2C-BC6-5033-W BA2C-BC6-5033-B BA2C-BC6-5033-S 1260Im |84.0 Im/ W 33°
BA2C-BC6-5039-W BA2C-BC6-5039-B BA2C-BC6-5039-S 1153Im |76.9 Im/ W 39°
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